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DIPLOMA IN ELEMENTARY EDUCATION 
(D.E1.Ed.) 

Term-End Examination 

December, 2019 

BES-019 : TEACHING OF SCIENCE 

Time : 3 hours 	 Maximum Weightage 70% 

Note : All the four questions are compulsory. All 
questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

How does the nature of science impact the 
teaching-learning process ? Explain with 
examples from your own practice as a teacher. 

OR 
Discuss the stages of the 5E model. Give one 
example for each stage. 

2. Answer the following question in about 
600 words : 

Select any two concepts from elementary level 
science and plan to conduct investigations on 
them. 

OR 

How can assessment facilitate effective 
teaching-learning in science ? Substantiate with 
the help of examples. 
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3. Answer any four of the following questions in 

about 150 words each : 

(a) "Science is subjective." Explain this 

statement with examples. 

(b) Demonstrate protection measures against 

earthquakes in your class. 

(c) Devise an activity to differentiate between 

acids and bases. 

(d) How will you use inductive and deductive 

logic to formulate a hypothesis ? 

(e) How will you teach children about reflection 

of light on smooth surfaces ? 

(f) Discuss various cropping patterns in India. 

4. Answer the following question in about 

600 words : 

Describe the activities, materials, resources and 

teaching-learning strategies to be adopted by 

you to explain the concept of electricity. 
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